The robot helper

For centuries, kids and lazy people all around the world have been too lazy to pick up- clean their environment. Nevertheless, with the new robot that I have designed all this trouble is over, because you do not have to do anything that you do not like or are too lazy to do. 

The robot helper that I have designed is capable of cleaning up your room by picking up the clothes lying around or by simply picking up the garbage. Thanks to the magnets under the robot, it can pick up bolts or screws as well as any kind of small metal pieces and the bent metal covered in silicone and microfiber cloth in the back prevent large dust or small garbage’s from escaping on smooth surfaces. The loading tray on the back can store up a lot of material and can dump it on a designated location. The metal plate in the back can be removed and the wheels can be replaced by tank thread to do cleaning on rough terrain. (on road side etc.) 
The robot helper can also be attached to a vacuuming system for cleaning dust and small plastic.

For further improvements there can be additional ultrasonic, bumper and limit sensors added to the robot that can work as a way finder for the robot and the robot can be fully autonomous.
When a kid hears its mother shouting the first idea that comes to mind is the state of panic but this can chance with the new robot because this robot makes cleaning up FUN.
	
	
	
	
	
	
	

	
	
	
	
	
	
	

	
	BOM
	Bill of Material
	
	
	
	

	
	
	
	
	
	
	

	
	
	
	
	
	
	

	
	no:
	Part number
	name
	price
	quantity
	

	
	1
	P/N: 276-2170
	VEX Microcontroller
	$149.99
	1
	

	
	2
	P/N: VRC-TANK-TREAD
	VEXplorer Tank Tread Kit
	$24.99
	1
	

	
	3
	P/N: CABLE-PWM-24-4PAK
	24 in. Extension Cable
	$19.95
	1
	

	
	4
	P/N: 276-2168
	VEX Tank Tread Kit
	$29.99
	1
	

	
	5
	P/N: 276-2163
	VEX Motor Kit
	$19.99 
	5
	

	
	6
	P/N: SQR-BAR-4PK
	2inch & 3inch Square Bar pack
	$5.49
	4
	

	
	7
	P/N: COLLAR-16PK
	Collar pack
	$10.49 
	1
	

	
	8
	P/N: BEARING-FLAT-10PK
	Delrin Bearing 10-pk
	$4.99 
	2
	

	
	9
	P/N: SPACER-THIN-20PK
	Thin Spacer pack
	$2.99
	1
	

	
	10
	P/N: SPACER-THICK-20PK
	Thick Spacer pack
	$2.99
	1
	

	
	11
	P/N: 12T-36T-GEAR-4PK
	12 & 36 Tooth Gear pack
	$5.99 
	1
	

	
	12
	P/N: BATTERY-HOLDER
	Robot Battery Holder
	$4.99 
	1
	

	
	13
	P/N: ANGLE-001-4PK
	Angle 1x1
	$14.99
	1
	

	
	14
	P/N: RAIL-21-25-4PK
	Chassis Rail 2x1
	$14.99
	2
	

	
	15
	P/N: BAR-25-8PK
	Bar 1-wide
	$12.99
	1
	

	
	16
	P/N: PLATE-5-15-2PK
	15x5 Hole Plate pack
	$4.99
	1
	

	
	17
	Keps Nut 8-32 pack
	Keps Nut 8-32 pack
	$1.99 
	1
	

	
	18
	BEAM-0500-PACK-10
	1/2" Standoff 10-pk
	$2.95
	1
	

	
	19
	BEAM-0750-PACK-10
	3/4" Standoff 10-pk
	$3.95 
	1
	

	
	20
	SCREW-0375-PACK-100
	3/8" 8-32 Screw 100-pk
	$7.49
	1
	

	
	21
	P/N: 276-2153
	Transmitter & Receiver Kit
	$129.99
	1
	

	
	22
	P/N: 276-2213
	VEXplorer Wheel Kit
	$9.99
	2
	

	
	
	
	
	
	
	

	
	
	Parts Non Vex
	
	
	
	

	
	23
	1
	metal plate
	$14,99
	1
	

	
	24
	2
	batery
	$0,50
	16
	

	
	25
	3
	microfiber cloth
	$4.99
	1
	

	
	
	
	
	
	
	

	
	
	total
	
	 $  632,00 
	
	


